4428 / External View

¥JIL—27# L / Without roof unit

o

———————— I

325
300

BRAZE / Components

[ (x®&= : TY-34)2008.02.08

| 1
| 1
l @ o | |
| SIEE-NE
| S
| 1
| 1
N1

L00

352

336

325

25X 11= 275

50

30

No. %# / Part name ¥E / Pcs ME / Material . ZREWLHE / Color- Finish
1 by THX— / Top cover 1 ABSEtRE / ABS AJ{NT V- / White gray
A UB-m%-h / Polycarbonate |#EBA / Transparenf
2 |K7+— / Base 1 ABSEtRE / ABS AJ4NT V- / White gray
3 |[W—7 / Roof 1 me/ PVC AD4NT b=/ White gray
L {1 A7y + / Gasket 1 AY7b3y / Polyurethane 73y / Black
5 |7y # / Latch 2 A77b% / Stainless steel NI / Unfinished
6 [Eff~x—ZAALAMS x 10) L, K = {@i70x-h
Screw(M5 - 10) Steel Trivalent chromate
F7 -1 T—% / Technical Data
REZEHM / Protection class IP65
EARE®E / Operating temperature | -10C ~ +60C
WeEM 2 o 2 / Flammability class UL94HB
181 2
N[O
N eI H®. ~ + o~ + o~ o o o . @ ]
:I OPOOPOOPOOOOODH II
| -© & |1
Al & & H
< 0 o I
o o~ e & ||H
1 S =| =4|
% S || @ P o
: i o o |
m [l ||
Al - & |l
;I S o o S s S s S R R R |;I
Nl @O0 00000000 Y
Yy N~ @J—‘ﬁ

N
———JJ| S
\ &-M5474-hFyh

4-M5 Insert nut

A,E@—m_ﬂ.

109.5

L —M54Y8-rFyh
4-M5 Insert nut

380.8

29.2 °
® © BAKEERED) / Color TypelEnd of product numberO)
, £% / Code by T715— / Top cover K5+ — / Base
,l € K74 5L~ / White gray |x74 + 5L — / White gray
| o T #EBA / Transparenf w74 bJL— / White gray
} - N N 2% /Title S —
| HRARM S D FERIR B5 K B8 )b — 7 fF ABST 553 O L
TAKACH ELEGTRONIGS ENGLOSURE Co. LTD P65 ABS PLASTIC BOX with OUTDOOR ROOF
&R /Approved | BRE/Checked | X /Created % /Product number RE/Scal’]‘l c
. BCAR3040180 —
IR iR a 1/ 2
fEfB /Date  2021/03/01




RfR / Internal View

XARIZFTIL—TEHTTOEEA,
Drawing does not include roof unit.

7 181

300

FFWMW

1 r

AT 14— (RR)

Base (Internal View)

/7 \&
() RN B R AN AN | A A A A A ()
@@@@@@@@@@@@@@
(A (R
A\ A\
Fo N )
A\ \\7J
Fo N FZNY
A\ \\7J
Fo N R
A\ \\7J
Fon) )
A\ \\7J
(A )
\\7J \\7J
FoN) R
A\ \\2J
(A FZN)
\\7J \\7J
(O) To NN\ N \ N s \ N s\ N\ W\ N\ N 7 \ N7 N\ N7\ N7\ (\
O ANZ2AN /BN /BN /AN /AN 78 AN 7N /AN 7R\ BN 7N /)
AN\
& ¥y o

10

A~TE /Max dim. 16L.6

L-M51Y4-Nuh

L-M5 Insert nut

B~TE /Max dim. 272.5

[(x®m&= : TY-34)2008.02.08

HN—(AR)
Cover (Internal View)

L=M54 %= FFob

4-MS5 Insert nut

‘ AT /Max dim. 372.5

BRARH I HTFERTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

&% /Title

R5K RHEE N — 7 fF ABST 54" vIR
IP65 ABS PLASTIC BOX with OUTDOOR ROOF

O ]

&I /Approved | R /Checked | R /Created
PR PR =)

#1% /Product number
BCAR3040180

RE /Scale
1:4.5

{ER B /Date 2021703701

2/ 2




	BCAR304018 Model (1).pdf
	BCAR304018 Model (2).pdf

